Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	МІ	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Chabot College - C	ommunity Educa	ation										
Brenner	Dawnette	N.	Chabot	Yes	To work as a Educational Instructor for Kids on Campus Program	Community Education	Flat Rate	\$900.00	1	\$900.00	6/17/2013	7/18/2013
lp	Angela	C.	Chabot	Yes	To work as a camp counselor for Kids on Campus Program	Community Education	Hourly	\$10.00	129	\$1,290.00	6/17/2013	7/18/2013
					To teach computer classes to Community	Community				. ,		
Mockel	Dennis	E.	Chabot	No	To teach Creative & French for Kids on	Education Special Programs &	Hourly	\$40.00	30	\$1,200.00		
Smith	Victoria	M.	Chabot	No	Campus Program To teach Android Apps for Beginners classes to Community	Services Community	Hourly	\$45.00	28	\$ 1,260.00	6/17/2013	
Traugott	Jonathan	C.	Chabot	No	Education students	Education	Hourly	\$45.00	9	\$405.00	6/17/2013	7/1/2013
Chabot College					To provide sign language interpretation	Disabled Student Services and						
Barrow	Adia	N.	Chabot	No	services	Programs	Hourly	\$40.00	250	\$10,000.00	7/1/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Bidgoli	Mahboube	G.	Chabot	No	To provide language and speech consultation services to comply with Child, Family, and Community Services grant requirements		Hourly	\$45.00	200	\$9,000.00	9/16/2013	12/31/2013
Bolich	Katherine		Chabot	No	To provide early childhood development workshops for CARI and Foster Kinship Care program to meet contract	Social Science	Haveh	¢50.00	30	\$4.500.00	8/17/2013	12/31/2013
		Α.			requirements To provide sign language interpretation	Disabled Student Services and	Hourly	\$50.00		\$1,500.00		
Brooks	Kwenu	nmi	Chabot	No No	To provide sign language interpretation services	Programs Disabled Student Services and Programs	Hourly	\$52.00 \$40.00	175 37.5	\$9,100.00 \$1,500.00	7/1/2013	
Cameron	James	P.	Chabot	Yes	To provide assistance in maintenance, learning, and safety issues in the lab	Applied Technology	Hourly	\$20.00	460			12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	_
					To provide PRIDE training for the Foster and Kinship Care Education	Foster and Kinship Care		005.00	70	# 4.000.00	0/4/0040	40/04/0040
Castro	Karen	E.	Chabot	No	To teach the X-ray certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the	Education	Hourly	\$65.00	72	\$4,680.00	8/1/2013	12/31/2013
Cheung	Nancy	L.	Chabot	No	course To provide sign language interpretation	Hygiene Disabled Student Services and	Hourly	\$75.00	24	\$1,800.00	8/19/2013	12/31/2013
Colin	Leslie	S.	Chabot	No	services To provide sign language interpretation	Programs Disabled Student Services and	Hourly	\$52.00	12.5	\$650.00		12/31/2013
Davin	Anthony	N.	Chabot	No No	To track statistics at football games as mandated by the California Community College Athletic Association	Programs Health, Physical Education and Athletics	Hourly	\$52.00 \$45.00	150	\$7,800.00 \$1,350.00	7/1/2013 8/19/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

				New			D				A '	A !
	Final Name		0:1-	Emp to	Destina-	District	Pay	D D1-	B	Maximum	Assign	
	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide PRIDE							
					training for the							
					Foster and Kinship	Foster and						
					Care Education	Kinship Care						
Evans-Mc Williams	Gwendolyn	Y.	Chabot	No	Program	Education	Hourly	\$50.00	72	\$3,600.00	8/1/2013	12/31/2013
	,				To provide sign	Disabled	1			+ - ,		
					language	Student						
					interpretation	Services and						
Flippin	Marilyn	A.	Chabot	No	services	Programs	Hourly	\$40.00	100	\$4,000.00	7/1/2013	12/31/2013
					To provide services	Health						
					for 2013-14	Sciences,						
					swimming clinic to	Physical						
					Community	Education &						
Forrest	Aaron	M.	Chabot	No	Education students	Athletics	Hourly	\$20.00	60	\$1,200.00	7/1/2013	12/31/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Goekler	Sarah	L.	Chabot	No	services	Programs	Hourly	\$40.00	100	\$4,000.00	7/1/2013	12/31/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and		#50.00	40.5	# 050.00	7/4/0040	40/04/0040
Green	Debbie	A.	Chabot	No	services	Programs	Hourly	\$52.00	12.5	\$650.00	7/1/2013	12/31/2013
					To provide childcare							
					support for parents							
					attending CARI /	Social						
Harrell	Dorothea	nmi	Chabot	No	PRIDE training	Sciences	Hourly	\$20.00	150	\$3,000.00	8/3/2013	12/21/2013
					To provide services	Health						
					for 2013-14	Sciences,						
					swimming clinic to	Physical						
l		_			Community	Education &		A 400	2-	0700.00	7/4/0045	10/04/2015
Harvey	Eric	T.	Chabot	No	Education students	Athletics	Hourly	\$13.00	60	\$780.00	7/1/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

				New								
				Emp to			Pay			Maximum	Assign	
	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide PRIDE							
					training for the							
					Foster and Kinship	Foster and						
					Care Education	Kinship Care						
Hauser	Gerry	A.	Las Positas	No	Program	Education	Hourly	\$50.00	64	\$3,200.00	8/17/2013	12/31/2013
	, ,			-	To provide sign	Disabled	, ,	,		, , , , , , , , , , , , , , , , , , ,		
					language	Student						
					interpretation	Services and						
Hawkins	Susan	A.	Chabot		services	Programs	Hourly	\$52.00	500	\$26,000.00	7/1/2013	12/31/2013
					To provide services	3				. ,		
					for video editing and							
					camera work for	Television						
Hernandez	Jaime	J.	Chabot	Yes	school activities	Station	Hourly	\$15.00	460	\$6,900.00	6/17/2013	12/31/2013
					To assist with the							
					Early Childhood Lab							
					School in meeting							
					CCAMPIS grant	Social				•		_,_,
Ozdemir	Hilal	H.	Chabot	No	requirements	Science	Hourly	\$50.00	125	\$6,250.00	7/16/2013	7/31/2013
					To provide sign	Disabled						
					language	Student						
IZ a a lui	Con due	_	Ch ab at		interpretation	Services and	I I a combo	# 40.00	40.5	Ф Б00 00	7/4/0040	40/04/0040
Koski	Sandra	C.	Chabot	No	services To teach 2013	Programs	Hourly	\$40.00	12.5	\$500.00	7/1/2013	12/31/2013
					swimming clinic to							
					Community	Community						
Kubicki	Greg	C.	Chabot	No	Education students	Education	Hourly	\$45.00	40	\$1,800.00	8/19/2013	12/31/2013
1001010	<u> </u>	J.	Cilabot	0	To provide services	Health	ourry	ψ10.00		\$1,000.00	3/10/2010	12/01/2010
					for 2013-14	Sciences,						
					swimming clinic to	Physical						
					Community	Education &						
Kubicki	Jennifer	nmi	Chabot	No	Education students	Athletics	Hourly	\$45.00	60	\$2,700.00	7/1/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

				New								
				Emp to			Pay			Maximum	Assign	Assign
	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Lentz	Mary Ellen	nmi	Chabot	No	services	Programs	Hourly	\$52.00	275	\$14,300.00	7/1/2013	12/31/2013
					To provide							
					workshops for the	Social						
Long	Lisa	J.	Chabot	No	CARI program	Science	Hourly	\$50.00	9	\$450.00	8/17/2013	12/31/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Manzo	Melinda	nmi	Chabot	No	services	Programs	Hourly	\$52.00	75	\$3,900.00	7/1/2013	12/31/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Markakis	Michelle	E.	Chabot	No	services	Programs	Hourly	\$52.00	500	\$26,000.00	7/1/2013	12/31/2013
					To provide skills							
					evaluation and asses							
					Emergency Medical	Emergency						
					Services students	Medical						
McPeak	Christopher	L.	Las Positas	No		Services	Hourly	\$15.00	50	\$750.00	8/19/2013	8/1/2013
					To provide sign	Disabled				-		
					language	Student						
					interpretation	Services and						
Mellenger	Mark	E.	Chabot	No	services	Programs	Hourly	\$40.00	200	\$8,000.00	7/1/2013	12/31/2013
J					To provide sign	Disabled				. ,		
					language	Student						
					interpretation	Services and						
Merritt	Monique	M.	Chabot	No	services	Programs	Hourly	\$52.00	75	\$3,900.00	7/1/2013	12/31/2013
		1			To provide sign	Disabled		75=100		72,222.00		
					language	Student						
					interpretation	Services and						
Moore	Rachel	M.	Chabot	No	services	Programs	Hourly	\$52.00	500	\$26,000.00	7/1/2013	12/31/2013
INIOOLE	Nachei	IVI.	CHADOL	140	301 11003	i rograms	riourry	ψυ2.00	300	Ψ20,000.00	1/1/2013	12/01/2010

Informational Report for the August 20, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	
	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Naraghi	Khashayar	F.	Chabot	Yes	To provide project services for television station operations	School of the Arts	Hourly	\$25.00	480	\$12,000.00	6/19/2013	12/31/2013
Noguez Olguin	Andrea	C.	Chabot	No	To provide services as Life Guard for 2013-14 swimming clinic to Community Education students	Health Sciences, Physical Education & Athletics	Hourly	\$11.00	40	\$440.00	7/1/2013	12/31/2013
Powell	Charlene	nmi	Chabot	No	To provide sign language interpretation services	Disabled Student Services and Programs	Hourly	\$52.00		\$13,000.00	7/1/2013	
Ramirez	Christina	A.	Chabot	No	To provide services as Life Guard for 2013-14 swimming clinic to Community Education students	Health Sciences, Physical Education & Athletics	Hourly	\$11.00	40	\$440.00	7/1/2013	12/31/2013
					To provide PRIDE training for the Foster and Kinship Care Education	Foster and Kinship Care		#05.00	70	.	0/4/0040	40/04/0040
Roberts-Brewer	Akilah	V.	Chabot	No	Program To provide services for 2013-14 swimming clinic to Community	Education Health Sciences, Physical Education &	Hourly	\$65.00	72	\$4,680.00	8/1/2013	
Rubino III	Jesse	A.	Chabot	No	Education students	Athletics	Hourly	\$25.00	60	\$1,500.00	7/1/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
St. Germaine	Michelle	E.	Chabot	No	To provide Early Childhood Development workshops for CARI and Foster Kinship Care program to meet contract requirements	Social Science	Hourly	\$50.00	25	\$1,250.00	8/17/2013	12/31/2013
Simba	Tanya	Н.	Chabot	No	To provide sign language interpretation services	Disabled Student Services and Programs	Hourly	\$40.00	150	\$6,000.00	7/1/2013	12/31/2013
Stewart-Felix	Paula	D.	Chabot	No	To provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	Hourly	\$50.00	72	\$3,600.00		12/31/2013
Vanni	Yvonne	M.	Chabot	No	To provide clinical support to set up labs and lab equipment for Dental Hygiene classes	Business	Hourly	\$75.00	24	\$1,800.00	8/19/2013	12/31/2013
Vidal	Brandon	R.	Chabot	No	To provide sign language interpretation services	Disabled Student Services and Programs	Hourly	\$40.00	200	\$8,000.00	7/1/2013	12/31/2013
Las Positas College	e - Community E	ducat	ion									
Rheinheimer	Sophie	C.	Las Positas	No	To teach fencing/ activity classes to community education students	Community Education	Hourly	\$40.00	200	\$8,000.00	7/1/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	мі	Site	New Emp to District	Dutios	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
	First Name	IVII	Site	District	Duties	DIVISION	Type	ray Nate	Waxiiiiuiii	Amount	beg. Date	Liiu Dale
Diamaga	lomos	W.	Las Positas	No	To teach Fencing to Community Education students	Community Education	I lovely	\$40.00	50	\$2,000.00	9/25/2012	6/30/2013
Ringener	James	VV.	Las Positas	NO	Education students	Education	Hourly	\$40.00	50	\$2,000.00	9/23/2012	0/30/2013
Sapsford	Paul	nmi	Las Positas	No	To teach soccer clinics to Community Education students	Community Education	Hourly	\$30.00	250	\$7,500.00	7/1/2013	12/31/2013
Las Positas College												
					To provide skills evaluation and assess emergency medical services							
Adkins	Lori	J.	Las Positas	No	students	Public Safety	Hourly	\$15.00	200	\$3,000.00	8/19/2013	12/31/2013
Alvarez	Miguel	A.	Las Positas	No	To provide support for the Workforce Investment Act	Tri-Valley One Stop	Monthly	\$4,300.00	6	\$25,800.00	7/1/2013	12/31/2013
Awaroz	Wilgadi	7	Lac i conac	110	To provide assistance in case management for the Workforce	Tri-Valley	Wertung	ψ1,000.00		\$20,000.00	77 172010	12/01/2010
Bell	Hannah	R.	Las Positas	Yes	Investment	One Stop	Hourly	\$31.00	737.5	\$22,862.50	7/1/2013	12/31/2013
Bilotti	Brendalyn	C.	Las Positas	No	To provide skills evaluation and asses Emergency Medical Services students	·	Hourly	\$15.00		\$3,000.00		12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
	First Name	мі	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	
	i not itamo		Cito	2.000	24.100	211101011	. 900	i uj ituto	шахшаш	7 unounc	209. 24.0	
Buono	Nicole	M.	Las Positas		To provide specialized technical and professional skills to students with disabilities	Disabled Student Services	Hourly	\$50.00	300	\$15,000.00	8/12/2013	12/31/2013
Cerruti	Dayna	R.	Las Positas	Yes	To serve as Public Health Nurse to staff and students in the Student Health and Wellness Center	Student Services	Hourly	\$60.00	100	\$6,000.00	7/1/2013	7/31/2013
	23,733				To provide skills evaluation and assess Emergency Medical Services	Math, Science, Engineering and Public		Ç		, , , , , , , , , , , , , , , , , , ,		
Cullen	River	A.	Las Positas	No	students	Safety	Hourly	\$15.00	100	\$1,500.00	8/19/2013	12/31/2013
Danner	Terri	ı	Las Positas		To provide specialized technical and professional skills to students with disabilities	Disabled Student Services	Hourly	\$21.69	1040	\$22,557.60	7/1/2013	12/31/2013
Damei	Tem	<u>-</u> .			To provide skills evaluation and assess emergency medical services					. ,		
Eberle	Christopher	S.	Las Positas	No	students	Public Safety	Hourly	\$15.00	100	\$1,500.00	8/19/2013	12/31/2013
					To provide support for the Workforce			407.00		# 44.050.00	7/4/00:10	10/01/00 10
Gallegos	Alexandra	nmi	Las Positas	No	Investment Act	Hourly	Monthly	\$27.00	550	\$14,850.00	7/1/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	
Hogorian	Drien		Loo Docitor	No	To teach auto and smog classes to Community Education students	Community Education	l louwh.	\$52.00	200	\$40,000,00	7/4/2042	42/24/2042
Hagopian Holback	Brian Richard	J.	Las Positas Las Positas	No	To provide skills coordination for the Paramedic Program	Community Education	Hourly	\$53.00 \$25.00	16	\$10,600.00 \$400.00	7/1/2013 8/19/2013	
Maghsoodnia	Maryam	nmi	Las Positas	No	To provide services as a professional trainer for the Pharmacy Technology Program	Science, Technology, Engineering, Math & Public Safety and Career Technical Education	Hourly	\$75.00	60	\$4,500.00	7/1/2013	12/31/2013
Markakis	Michelle	E.	Las Positas	Yes	To provide specialized technical and professional skills to students with disabilities	Disabled Student Services	Hourly	\$50.00	300	\$15,000.00	8/19/2013	12/31/2013
Mclendon-Hinnenkamp	Wendy	L.	Las Positas	No	To provide skills evaluation and assess EMS students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	200	\$3,000.00	8/19/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	
Mclendon-Hinnenkamp	Wendy	L.	Las Positas	No	To provide clinical rotation for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$50.00	140	\$7,000.00	8/19/2013	12/31/2013
Mclendon-Hinnenkamp	Wendy	L.	Las Positas	No	To provide skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety		\$25.00	45	\$1,125.00		
Mclendon-Hinnenkamp	Wendy	L.	Las Positas	No	To provide services as a program trainer for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$75.00	24	\$1,800.00	8/19/2013	12/31/2013
Mirande	Norene	M.	Las Positas	No	To provide contract services for the Tri-Valley One Stop Center operations in support of the Alameda County Workforce Investment Act	Tri-Valley One Stop	Monthly	\$3,400.00	6	\$20,400.00	7/1/2013	12/31/2013
Montalvo	Debra	J.		No	To provide job development support for disabled students	Disabled Students Programs		\$3,400.00		\$24,960.00		12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
	First Name	MI	Site	District	Duties		Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Moorhead	Jane	nmi	Las Positas	No	To provide lab coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$50.00	5	\$250.00	8/19/2013	12/31/2013
Moorhead	Jane	nmi	Las Positas	No	To provide services as Program Trainer for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$75.00	11	\$825.00	8/19/2013	12/31/2013
Ong	Dennis	nmi	Las Positas	No	To provide services as a professional trainer for the Pharmacy Technology Program	Science, Technology, Engineering, Math & Public Safety and Career Technical Education	Hourly	\$75.00	60	\$4,500.00	7/1/2013	12/31/2013
Pendergast	Michael	B.	Las Positas	Yes	To provide services as Program Coordinator for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$25.00	45	\$1,125.00	8/19/2013	12/31/2013
Purcell	Sheila	K.	Las Positas	Yes	To provide support for the operations of the Workforce Investment Act	Tri-Valley	Hourly	\$31.00		\$17,050.00		12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	_
Rothman	Cheryl	A.	Las Positas		To design the Spring 2014 Schedule of Classes for the college	Student Services	Flat Rate	\$2,500.00	1	\$2,500.00	9/1/2013	10/31/2013
Simerman	Gerald	C.	Las Positas		To provide contract services for the Tri-Valley One Stop Center operations in support of the Alameda County Workforce Investment Act	Tri-Valley One Stop	Monthly	\$5,088.00	6	\$30,528.00	7/1/2013	12/31/2013
Trabert	Scott	D.	Las Positas		To provide services for evaluation and accessment of Fire Service Technology students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	200	\$3,000.00	8/19/2013	12/31/2013
					To Manage the Tri- Valley One Stop Center including fiscal management, staff supervision, WIA program coordination, case management, staff hiring and training for	Tri-Valley						
Valle, Jr.	Rafael	A.	Las Positas	No	FY2013-14	One Stop	Monthly	\$5,830.00	6	\$34,980.00	7/1/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	
	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Voelker	Kathyrn	M.	Las Positas	No	To provide services as Program Trainer for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$75.00	14	\$1,050.00	8/19/2013	12/31/2013
Voelker	Kathyrn	M.	Las Positas	No	To provide lab coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$50.00	10	\$500.00	8/19/2013	12/31/2013
Wada	Dave	S.	Las Positas	No	To provide services as Skills Coordinator for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$25.00	24	\$600.00	8/19/2013	12/31/2013
Wada	Dave	S.	Las Positas	No	To provide services as Paramedic Trainer for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$75.00	80	\$6,000.00	8/19/2013	12/31/2013
Wada	Dave	E.	Las Positas	No	To provide lab coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$50.00	16	\$800.00	8/19/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	MI	Site	New Emp to District	Dution	Division	Pay	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
	First Name	IVII	Site	DISTRICT	Duties	DIVISION	Туре	Fay Kale	Maximum	Amount	beg. Date	End Date
Ward	Scott	D.	Las Positas	No	To provide services for evaluation and accessment of Emergency Medical Technology students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	50	\$750.00	8/19/2013	12/31/2013
Wong	Sebastian	S.	Las Positas	No	To provide services as Program Coordinator for Emergency Medical Technology Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$56.00	100	\$5,600.00	8/19/2013	12/31/2013
Wong	Sebastian	S.	Las Positas	No	To provide services for evaluation and accessment of Emergency Medical Technology students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	50	\$750.00	8/19/2013	12/31/2013
Wong	Sebastian	S.	Las Positas	No	To provide services as Program Coordinator for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$75.00	144	\$10,800.00	8/19/2013	12/31/2013
Wong	Sebastian	E.	Las Positas	No	To provide services as Paramedic Trainer for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$75.00	80	\$6,000.00	8/19/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	MI		New Emp to District	Duties		Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	
Wong	Sebastian	E.	Las Positas	No	To provide lab coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$50.00	45	\$2,250.00	8/19/2013	12/31/2013
Young	Robert	Н.	Las Positas	No	To provide services as Paramedic Trainer for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$75.00	198	\$14,850.00	8/19/2013	12/31/2013
Young	Robert	Н.	Las Positas	No	To provide lab coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$60.00	45	\$2,700.00	8/19/2013	12/31/2013

Informational Report for the August 20, 2013 Board of Trustees Meeting

	First Name	MI		New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	_	_
District Services												
Donat	Teresa	G.	District		To provide non-credit computer training, grant, and consulting services to department and local area companies		Hourly	\$85.00	50	\$4,250.00	7/1/2013	12/31/2013
Guerra	Blanca	nmi	District		To provide emotional and practical support to parents new to the Solano County Child Welfare System		Hourly	\$12.00	810	\$9,720.00	7/1/2013	12/31/2013
lanniello	Raphaella	A.	District		To provide non-credit soft skills to local area companies	Contract Education	Hourly	\$100.00	60	\$6,000.00	7/15/2013	12/31/2013